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120354 > 12102

Section efficace volumique [pm sr 1]
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gphf= 0.839  Extphf= 11.59km-1  Npts= 368

q = 0.839 Extinction Coefficient = 11.589 km-1



120354 > 1212

concentration [ tpm 7]
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Driarnétre [pm)
Temp = 4.3°C Al = O0m RHI = 0
Wind = 0.0mfs Dir = 0 NPT = 368
Concld = 105.7 cm-3 Sconcld = 30.2 cm-3 ConcldM = 167.6 cm-3
Lwcld = 0.182 gfm3 Shecld = 0.052 g/m3 hwcldM = 0.331 qfm3
Extld = 32.3km-1 Sextid = 7.3km-1 extidM = 459 km-1
Deffld = 16.hum 5Deffld = 3.2um DeffldM = 22.6 um
Conc?d = 0.0 Sconc?d = 0.0 Conc?dd = 0.0
ConclO0 = 0.0 Sconcl00 = 0.0 ConclOdM= 0.011
lwc2d = 0.0mg/m3 Siwc2d = 0.0 mg/m3 iwc2dM = 0.0 mgfm3
Ext?2d = 0.00 km-1 Sext?d = 0.00 km-1 ext?did = 0.00 km-1
Deff2zd = 0.0um SDeffizd = 0.0um Deff2Zdd = 0.0 um
ExtMP = 11.6 km-1 SextMF‘ = A49km-1 extNPM = 26.0 km-1
q = 0.839 S0 = 0. I]I]d qM = 0.84%
P¥IPR1 = 0.712 F‘d?.-'F'1 0 0.757

L¥WYNev = 0.000 g/m3 TWCNEV =-606.590 g/m3 Deffd =-604.9 um
ConcCPl = 1182111 DeffiCPl = 32.4um extiCPl = 0.1 km-1 iwcCPI

0.2 mgfm3



120354 > 1212

concentration [ tpm 7]
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Diarnétre [pm] angle []
Temp = 4.3°C Al = O0m RHI =
Wind = 0.0mfs Dir = 0 NPT = 368
Concld = 105.7 cm-3 Sconcld = 30.2 cm-3 ConcldM = 167.6 cm-3
Lwcld = 0.182 gfm3 Shecld = 0.052 g/m3 hwcldM = 0.331 qfm3
Extld = 32.3km-1 Sextid = 7.3km-1 extidM = 459 km-1
Deffld = 16.hum 5Deffld = 3.2um DeffldM = 22.6 um
Conc?d = 0.0 Sconc?d = 0.0 Conc?dd = 0.0
ConclO0 = 0.0 Sconcl00 = 0.0 ConclOdM= 0.011
lwc2d = 0.0mg/m3 Siwc2d = 0.0 mg/m3 iwc2dM = 0.0 mgfm3
Ext?2d = 0.00 km-1 Sext?d = 0.00 km-1 ext?did = 0.00 km-1
Deff2zd = 0.0um SDeffizd = 0.0um Deff2Zdd = 0.0 um
ExtMP = 11.6 km-1 SextNF‘ = A49km-1 extNPM = 26.0 km-1
q = 0.839 S0 = 0. I]I]d qM = 0.84%
P¥IPR1 = 0.712 Pd?.-'F'1 0 0.757
LwWNev = 0.000 q/m3 TWCNEV = -606.590 q/m3 Deffd =-604.9 um
ConcCPl = 118.21-11 DeffCPl = 32.4um extCPl = 0.1km-1 iwcCPl = 0.2 mg/m3
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